culate and fill in the missing digits
4 ._O_, _ 21 5 hundreds column and add it'to 2 in the | remember that we borrowed 1 from
- 7| 4 5 ns/column/to make 12,then12-6 = 6 his number to the tens column
So, the actual missing humber
32860 410/ |2/ 5] | here is1+2 =
irst, let’s start subtracting | - /7,14 6 5 | 4/ 0] 3 21 5
from the ones column.Then, | = /. 4 6 5
we move on to the tens : & 2, 8 6 0
column./Letls think of a number] Next, let’s move to the hundreds column. , 52 860
that when we subtract from 2, | Let’s again think of a humber that if we
will make the answer end | subtract 4 from, will make the answer end
with 6. You see that | with 8. We know that, 12 + 4 = 8 So, the
f we borrow 1from the | issing number might be 2. But let’s
143
= 9
4 4
, 5 7 2
- 3, 1 5
814
o) 2
9 .9 _ ===y
- /, 2 6 _ : |
89 713
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Missing digits subtraction: four or more digits

Calculate and fill in the missing digits
a 4 0 _ 2 5 hundreds column and add it to 2 in the remember that we borrowed 1 from
- /.| 4 _ g ens.column!to make 12,then 12 -6 = 6 his number to the tens colum
—[ So, the actual missing humber
52860 1410 1215 | . hereis1+2=23
irst, let’s start subtracting % 7.4 5 4 0 3 215
rom the ones column.Then, = /14865
we move on to the tens| | 52 860
column. Letls think of a number] Next,|let's move to the hundreds column 3 2,860
that when we subtract from 2, | Let’s again think of a number that if we
will make the answer end | subtract 4 from, will make the answer end
with 6. You see that with 8. We know that, 12 - 4 = 8 So, the
f we borrow 1from the issing number might be 2. But let’s
b 43 143
4 (9] | > - 199
# 4 4 4
c L5 7 2 4 5 7 2
13 .5 | > -3, 758
814 814
d 9 , 9 | 2 | 96,9 8 2
| | 726 | > - 7,269
89 713 89 713
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